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1. (a) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¶Ûä× ïõÛýÛÙ“ÛéªÛ Í¸ÛÌ¤ø ïõÁõÛé.  6 

  Discuss the scope of Financial Management. 

     …¬ÛÈÛÛ/OR 

  …ÛµÛäÜ¶Ûïõ ÍÛ¾ÛýÛ¾ÛÛ× ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛïõ¶Ûà ½ÛæÜ¾ÛïõÛ Í¸ÛÌ¤ø ïõÁõÛé.  
  Clarify the role of Finance Manager in modern times. 

 (b) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¾ÛÛ× ÍÛ×̧ ÛÜ«Û¶ÛÛ ¾ÛÐü«Û¾ÛàïõÁõ¨Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 4 

  Explain the concept of maximisation of wealth in Financial Management. 

…¬ÛÈÛÛ/OR 

  ¶ÛÛ¨ÛÛïõÛýÛÙ¶ÛÛé Š©¸ÛÛþù¶Û ÍÛ×̃ ÛÛÅÛ¶Û ÍÛÛ¬Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÍÛ¾Û›ÛÈÛÛé.  
  Explain the relation of finance function with production management. 

 (c) ¶ÛÛ¨ÛÛïõÛýÛÙ¶ÛÛé ÄõÜ§ø•Û©Û …Ü½Û•Û¾Û ˜Û˜ÛÛë.  4 

  Discuss the traditional approach of finance function. 

     …¬ÛÈÛÛ/OR 

  ¶ÛÛ¨ÛÛïõàýÛ …ÛýÛÛé›÷¶Û¾ÛÛ× ïõýÛÛ ¸ÛÛÍÛÛ×…Ûé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  Which aspects are included in financial planning ? 

 

2. (a) ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶Ûà Áõ˜Û¶ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  6 

  Discuss the factors affecting formulation of capital structure. 

            …¬ÛÈÛÛ/OR 

  îÅÛÛÜÍÛïõ ÜÅÛÜ¾Û¤éø¦ø ` 50,00,000¶Ûà ¾Ûæ¦øà Œ½Ûà ïõÁõÈÛÛ ¾ÛÛ•Ûé ™öé. …Û ¾ÛÛ¤éø ©Ûé ` 10 ¶ÛÛé …éïõ …éÈÛÛ 
ˆÜîÈÛ¤øà ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ ¾ÛÛ×•Ûé ™öé ©Û¬ÛÛ …¾Ûäïõ Áõïõ¾Û¶Ûà ºõÛýÛ¶ÛÛ¶ÍÛ ï×õ¸Û¶Ûà¶Ûà ÅÛÛé¶Û ÅÛéÈÛÛ ¾ÛÛ×•Ûé 
™öé. ï×õ¸Û¶Ûà¶ÛÛé ÈýÛÛ›÷-ÈÛéÁõÛ ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé ` 15,00,000 …×þùÛ›÷ÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé. ï×õ¸Û¶Ûà ¸ÛÁõ 
ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% ™öé. ºõÛýÛ¶ÛÛ¶ÍÛ ï×õ¸Û¶Ûà¶Ûà ÅÛÛé¶Û ¸ÛÁõ ÈýÛÛ›÷¶ÛÛé þùÁõ ` 20,00,000¶Ûà ÅÛÛé¶Û ÍÛäµÛà 
12% ©Û¬ÛÛ ` 20,00,000 ¬Ûà Š¸ÛÁõ¶Ûà Áõïõ¾Û ¾ÛÛ¤éø 15% ™öé. ¾Ûæ¦øà Œ½Ûà ïõÁõÈÛÛ ï×õ¸Û¶Ûà ¼Ûé ÜÈÛïõÅ¸ÛÛé 
ÜÈÛ˜ÛÛÁéõ ™öé.  

  (1) ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà ©Û¬ÛÛ ÅÛÛé¶Û¶Ûä× ¸Ûó¾ÛÛ¨Û 3 : 2 ÁõÛ”ÛÈÛä×, …¬ÛÈÛÛ   

  (2) ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà ©Û¬ÛÛ ÅÛÛé¶Û¶Ûä× ¸Ûó¾ÛÛ¨Û 2 : 3 ÁõÛ”ÛÈÛä×.  
  ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà¶ÛÛ …ÛµÛÛÁéõ ï×õ¸Û¶Ûà…é ïõýÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÈÛÛé ›Ûé̂ …é ? 
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   Classic Limited desires to raise capital of ` 50,00,000. For this it wants to issue 

equity shares of ` 10 each and to borrow some loan from finance company. 

Earnings before interest and tax for the company is estimated to be ` 15,00,000. 

The rate of tax on the company is 40%. The rate of interest on the loan from 

finance company is 12% for loan amount up to ` 20,00,000 and 15% for the 

amount in excess of ` 20,00,000. Company is considering two alternatives for 

raising capital. 
  (1) To keep proportion of equity shares and loan 3 : 2 or  
  (2) To keep proportion of equity shares and loan 2 : 3. 
  Which alternative should be selected by the company based on earning per share ? 

 (b) …Ü©Û¾Ûæ¦øàïõÁõ¨Û¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û Ü¶ÛÈÛÛÁõÈÛÛ ïõýÛÛ Š¸ÛÛýÛÛé ÍÛæ̃ ÛÈÛà ÉÛïõÛýÛ ? 4 

  Which remedies can be suggested to remove the situation of over-capitalization ? 

             …¬ÛÈÛÛ/OR 

  ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the concept of operating leverage. 

 (c) ÉÛéÁõÐüÛéÅ¦øÁõÛé¶ÛÛ ›Ûé”Û¾Û ¸ÛÁõ ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷¶Ûà …ÍÛÁõ ÍÛ¾Û›ÛÈÛÛé.  4 

  Explain the effect of financial leverage on shareholders’ risk. 

                  …¬ÛÈÛÛ/OR 

  ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà¶ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶Û ©ÛÁõàïéõ Ü¦ø¼Ûé¶˜ÛÁõ¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 
  Mention the limitations of debenture as source of long term capital. 
 

3. (a) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûà ›÷ÄõÜÁõýÛÛ©Û ïõýÛÛ ¸ÛÜÁõ¼ÛÇÛé ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé ? 6 

  On which factors do working capital requirements depend ? 

            …¬ÛÈÛÛ/OR 

  ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸ÛÛé.  
  Give information about different types of working capital. 

 (b) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ÅÛ“Û¨ÛÛé Í¸ÛÌ¤ø ïõÁõÛé.  4 

  Clarify the characteristics of working capital. 

     …¬ÛÈÛÛ/OR 

 ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛ ïõÛé̂ ¸Û¨Û ¼Ûé ÜÍÛ±ùÛ×©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
  Discuss any two principles of working capital management. 

 (c) …¸ÛæÁõ©Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ½ÛýÛÍ¬ÛÛ¶ÛÛé ïõýÛÛ ™öé ?  4 

  Which are the dangers of inadequate working capital ? 

         …¬ÛÈÛÛ/OR 

  ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûé ºõÁõ©Ûà ¾Ûæ¦øà ÉÛÛ¬Ûà ïõÐéü ™öé ? 
  Why working capital is called circulating capital ? 

 

4. (a) ¶Û×þù¶Û ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ …×•Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé ƒ 6    

ÜÈÛ•Û©Û 
˜ÛÛȩ́ Û¦éø 

Ýïõ¾Û©Û (`̀̀̀) 
¼Û›ÛÁõ 

Ýïõ¾Û©Û (`̀̀̀) 
ÜÈÛÜÉÛÌ¤ø 
¸Û¦ø©ÛÁõ 

50,000 ˆÜîÈÛ¤øà ÉÛéÁõ 10 20 16% 
3,000 Ü¦ø¼Ûé¶˜ÛÁõ 100 80 8% 
2,000 ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ  50 45 10% 
ÁõÛ”Ûà ¾ÛæïéõÅÛ ïõ¾ÛÛ¨Ûà ` 1,00,000 – – 14% 

  Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ ¶Û×þù¶Û ÜÅÛÜ¾Û¤éø¦ø ¾ÛÛ¤éø ˜ÛÛȩ́ Û¦øÛ Ýïõ¾Û©Û ©Û¬ÛÛ ¼Û›ÛÁõ Ýïõ¾Û©Û¶ÛÛ ½ÛÛÁõ¶Ûé 
…ÛµÛÛÁéõ ¾Ûæ¦øà¶Ûà ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. 
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  The information about capital structure of Nandan Limited is as under : 

Particulars 
Book 

Value (`̀̀̀) 

Market 

Value (`̀̀̀) 

Specific 

Cost 

50,000 Equity Shares 10 20 16% 

3,000 Debentures 100 80 8% 

2,000 Preference Shares 50 45 10% 

Retained Earnings ` 1,00,000 – – 14% 

  Find weighted average cost of capital for Nandan Limited using book value 

weights and market value weights. 

…¬ÛÈÛÛ/OR 

  ’õÛŠ¶Û ÜÅÛÜ¾Û¤éø¦ø ` 22,00,000¶Ûà Ýïõ¾Û©Û¶Ûä× …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé. …Û ýÛ×ªÛ¶Ûà ½Û×•ÛÛÁõ Ýïõ¾Û©Û 
©Ûé¶ÛÛ ˜ÛÛÁõ ÈÛÌÛÙ¶ÛÛ Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ¶Ûé …×©Ûé ` 2,00,000 …×þùÛ›÷ÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. ýÛ×ªÛ ¸ÛÁõ –ÛÍÛÛÁõÛé 
ÍÛàµÛà ÅÛà¤øà¶Ûà ¸Û±ùÜ©Û…é •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ï×õ¸Û¶Ûà¶Ûà ÍÛÁéõÁõÛÉÛ ¾Ûæ¦øà ¸Û¦ø©ÛÁõ 12% ™öé. ï×õ¸Û¶Ûà ¸ÛÁõ 
ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 40% ™öé. ˜ÛÛÁõ ÈÛÌÛÙ ¾ÛÛ¤éø …Û ýÛ×ªÛ¾ÛÛ×¬Ûà ïõÁõÈÛéÁõÛ ¼ÛÛþù¶ÛÛé ¶ÛºõÛé ©Û¬ÛÛ 12% ¶ÛÛ 
ÈÛ¤øÛÈÛ¶ÛÛ þùÁéõ ` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé ƒ  

ÈÛÌÛÙ 1 2 3 4 

ïõÁõ¼ÛÛþù ¶ÛºõÛé (`) 3,00,000 3,50,000 4,00,000 2,50,000 

` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ  0.893 0.797 0.712 0.636 

  Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ : 

  (1) ÍÛÁéõÁõÛÉÛ ÁõÛéïõÛ¨Û ¸ÛÁõ ÈÛÇ©ÛÁõ¶ÛÛ þùÁõ¶Ûà ©Û¬ÛÛ 
  (2) ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛ …Û×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé.  
 

  Crown Limited wants to purchase a machine costing ` 22,00,000. The scrap value 

of this machine is estimated to be ` 2,00,000 after its useful life of four years. 

Depreciation on machine is calculated by straight line method. Average cost of 

capital for company is 12%. The rate of taxes on company is 40%. Profit after tax 

expected to arise from this machine and present value of ` 1 at 12% discount rate 

are as under. 

Years 1 2 3 4 

Profit after tax (`) 3,00,000 3,50,000 4,00,000 2,50,000 

Present value of ` 1 0.893 0.797 0.712 0.636 

  From the above information calculate : 

  (1) Rate of return on average investment 

  (2) Profitability Index 

 (b) “ÁõÛ”Ûà ¾ÛæïéõÅÛà ïõ¾ÛÛ¨Ûà¶Ûà ïõÛé̂  ¸Û¦ø©ÛÁõ ÐüÛé©Ûà ¶Û¬Ûà.” ÉÛä× ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛÐü¾Û©Û ™öÛé ?    
ÉÛÛ¬Ûà ?   4 

  “There is no cost of retained earnings.” Do you agree with this statement ? Why ? 

            …¬ÛÈÛÛ/OR 

  ¾Ûæ¦øà ¼Û›÷é¤ø¶Ûà ¸ÛÁõ©Û …Û¸Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé.  
  Explain Pay Back Method of capital budgeting. 

 (c) ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ •Û¨ÛÈÛÛ ¾ÛÛ¤éø¶ÛÛé Ü¦øÜÈÛ¦×ø¦ø …Ü½Û•Û¾Û ÍÛ¾Û›ÛÈÛÛé.  4 

  Explain dividend approach for computing cost of equity share capital. 

                 …¬ÛÈÛÛ/OR 

  ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà •Û¨Û©ÛÁõà ïéõÈÛà Áõà©Ûé ïõÁõÉÛÛé ?  
  What is present value of cash flow ? How would you calculate it ? 
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5. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé ƒ 6 

  Explain the following terms : 

  (1) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û 
    Financial Management 

  (2) …Å¸Û¾Ûæ¦øàïõÁõ¨Û 
    Undercapitalisation 

  (3) ¸ÛÛ¨ÛàýÛäî©Û ¾Ûæ¦øà 
    Watered Capital 

  (4) ˆÜîÈÛ¤øà ¸ÛÁõ¶ÛÛé ÈÛȩ́ ÛÛÁõ 
    Trading on Equity 

  (5) ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ 
    Cost of Capital 

  (6) ¾Ûæ¦øà ¼Û›÷é¤ø 
    Capital Budget 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ”Ûæ¼Û ›÷ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé ƒ 8 

  Give very brief answers to the following questions : 

  (1) ¶ÛÛ¨ÛÛïõÛýÛÙ¶ÛÛ …ÛµÛäÜ¶Ûïõ …Ü½Û•Û¾Û ¾Ûä›÷¼Û ¶ÛÛ¨ÛÛïõÛýÛÙ¶ÛÛ ªÛ¨Û ¸ÛÛÍÛÛ ïõýÛÛ ™öé ?  
   Which are the three aspects of finance function according to the modern 

approach of finance function ? 

  (2) ¶ÛºõÛ¶Ûä× ¾ÛÐü«Û¾ÛàïõÁõ¨Û …é¤øÅÛé ÉÛä× ?  
   What is maximisation of profit ? 

  (3) …Ü©Û ¾Ûæ¦øàïõÁõ¨Û¶ÛÛ ïõÛÁõ¨ÛÛé¶Ûà ýÛÛþùà …Û¸ÛÛé.  
   Give a list of causes of overcapitalisation. 

  (4) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà¶ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶ÛÛé ïõýÛÛ ™öé ?  
   Which are the sources of long term capital ? 

  (5) ˜ÛÛé””Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé …¬ÛÙ …Û¸ÛÛé.  
   Give the meaning of net working capital. 

  (6) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ –Û¤øïõÛé ïõýÛÛ ™öé ?  
   Which are the components of working capital ? 

  (7) ÜÁõ¦øà¾Ûé¼ÛÅÛ ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ¶Ûà ¾Ûæ¦øà¶Ûà ¸Û¦ø©ÛÁõ •Û¨ÛÈÛÛ¶Ûä× ÍÛæªÛ …Û¸ÛÛé.  
   Give the formula for computing cost of capital of redeemable preference 

shares. 

   (8) ¾Ûæ¦øà ¼Û›÷é¤ø¶Ûà ÜÈÛÜÈÛµÛ ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé.  
   Mention different techniques of capital budgeting. 

___________ 


